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Run 4496 mpswise, accO: All

Enitries: 1418717

Mean: -0, 26689 < - 0002

Sid Dev: 01980 &~ 0.0001
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Run 4496 mpswise, acc0: Beam ON, Laser ON

—— Helicity==0
— Helicity==

Enitries: 480444

Mean: -0.2809 «/- 00003

Sbd Dwey: 01949 4~ 00002

Enitries: 480407

Mean: -0.2453 </ 00D

Sid Deeryz 001949 4 00002
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Run 4496 mpswise, accO: Beam OFF

Enlries: 44308

Meary: -0. 3008 o- 0UDOTD

Sid Dev: 026 - 0.0007
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Run 4496 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==

Enitries: 1E7T9&D

Mearn: -0.2568 o/- DUDO0D

Sid Drev: 001909 - 00003




AccO/MACCD

Accl/MNAccD

Run 4496 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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Run 4496 mpswise, AccO/NAccl:mpsCoda, beam ON, laser ON
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AccO/NAccO

AccO/NAccD

Run 4496 mpswise, AccO/NAccO:mpsCoda, beam OFF
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Run 4496 mpswise, AccQ/NAccO:mpsCoda, beam ON, laser OFF
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